Hoja 3.2 i@ica 2° BAT © FerMates
Resueltos

1.-
a) CHs + H, — CHg
AH; = AH (CzHe) -JH (C2H4) —-AH (Hz)

AH, = —84'60-52'30 — 0 =— 136'9kJ
b)
H H HH
| | ||
cC=C + H-H—- H-C-C-H
| | ||
H H H H
Serompen: 4enlacesC-H Se forman: 6 enlacesl
lenlace H-H lenlace C-C
lenlace C=C
AH; =3 Eerotos— 2. Ee formados
JH, =4 E(C-H)+EH-H)+E(C =C)-6E(C -HEC -C)
AH, =4 - 415+ 436 + 610 -6 - 415 — 347 —<=131kJ
c) 1)x(CHs + % O, - 2CQ +3 HO AH1= — 156095 kJ)
CH;+30Q — 2CQ + 2HO AHo= — 141193 kJ
H+ »%Q — HO AHiz= —285'50 kJ

Sumamos todo:
CHs+ H — GHg AH, =—AHq + AHp + AH3
AH; = 156095 — 1411’93 — 285’50 = 136'48kJ

2. CHio +% 02— 4CQ g+ SHO

a)  AHr= 4 -AH (CO) +5 -AH (H;0) — AH (C4H10)
AHr = 4 - (=393) + 5 - (= 242) + 125 =2657 kJ

AH — AnRT An = 9—1—25:
— 2657 —g . 8'34 - 10° 3. 298 = 2660’72 kJ
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